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1. BHEBBE O
(1) # % IR &%
1. ZMALE 2,000,000 0 2,000,000
2. M E 72,715,000 69,500,000 3,215,000
3. BEIK 10,206,000 10,260,000 A 54,000
4. #H IR =& 159,592 186,452 A 26,860
1B & R 2 E 85,080,592 79,946,452 5,134,140
QBREER
1. % ¥ % 61,093,654 59247636 1,846,018
2. % | & 19,851,151 19,581,401 269,750
BEER 80,944,805 78,829,037 2,115,768
LEREEBRSE 4135787 1,117,415 3,018,372
2. BHESMFE DI
(1) #8 & 5 I 2% 0 0 0
QR=ENEHR 0 0 0
LERREIMEREE 0 0 0
154724 2 — AR TE BRBA EE AR 4,135,787 1,117,415 3,018,372
EAB-ERBRUBER 70,000 70,000 0
L — AR IE R BA FE ISR AR 4,065,787 1,047,415 3,018,372
—RIERIHESRERS 128,335,136 127,287,721 1,047,415
— IR IERBAEAAR S 132,400,923 128,335,136 4,065,787
EREAERRES 132,400,923 128,335,136 4,065,787




